
M6*22
4pcs

1

Take out all the chair parts from the carton.
Tape the empty carton.Use the empty carton
as a platform to assemble the chair

M8*25
2pcs

M8*70
2pcs

M6*18
2pcs

M6 M8

1 2 3

4

A CB

D E F

2

Caprice

B

F

1

2

U1 complete back UW2 complete seat M3 handle

U4 arm set 

Individual seat parts - 
W2a wood arm set & mech
W2b wood base ring
M2c base ring
M2d reclining knob

M5 bolts
M6 bo l t s M7 bo l t s

M8 bolts M9 a l len  wrench M10 a l len  wrench

M-10 hardware kit



3 4 5

A

C

D

6 7

3

4

Push the handle forward to make sure the footrest 
is horizontally open before you want the footrest 
folded back totally.

The headrest can be adjustable by 
pressing forward.

Push the handle forward to open 
the footrest .

LHF
RHF

C

F E E


	页 1
	页 2



